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Note .— Answers may be wnitten either m English or 1n
Hindi; but the same medium should be used

throughout the paper.
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Attempt All questions.

All questions carry equal marks
woft 7 TR

awlt vt B aim wmm F

1.  The accounts of a pubhc company have been prepared
In accordance with provisions of Part II and III of
R Schedule VI of the Companies Act and 1ts Profit & loss
Account laid before the Annual General Meeting for the
previous year ending 31 March, 2009 shows a net profit
- of Rs 15 lakhs.
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The following information relevant for the purpose of

compl.};,mg its asséssable income has been extracted from

- a scrutiny of Profit & Loss Account :

Credits in the Profit & Loss Account

63

@

3

Profit from a new industrial

-

-undertaking qualifying for

deductic;n under Section S80IA

{Net) Rs. 17,00,000

Profits from a new industrial
undertaking quahfying for
deduction under Section 1GA

(gross) Rs 10,00,000
i

Long-term capital gains Rs 3,00,000

Debits in Profit & Loss Account

(D

Expenditure relating to industrial
undertaking qualifyving for

deduction under Section 10A Rs 17,00,000
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(2) Deprecation relating to 2007-08

brought forward T Rs 10,00,000

(3) Business loss relating to 2007-08

brought forward Rs 12,00,000

(4) Current year’s depreciation Rs.. 10,00,000
(5) Penalty for ini"raction of law Rs 1,00,000
(6) Provision of sales tax Rs 3,00,000
() Dividend proposed Rs. 2,00,000

]

Depreciation admissible under the Income Tax Act and
rules for the previous year is Rs 19,50,000 The capital
gains has been 1nvested in specified assets under Section
54EC. Sales tax provided in the accounts has been
remitted before the due (.late. There is no loss or
unabsorbed depreciation to be carried forward and

adjusted as per income tax assessment.

You are required to compute the total tax liablity of

_ the company for the assessment year 2009-10. 15
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Or

(T :

(@) Define tax planning How 1s it different from tax

avoidance and tax evasion ? 6
(#) Give reasons when - -

(t/ A non-Indian company is permutted to

acquire status of a domestic company.

(@) A company 18 required to pay income tax
- more than that computed as per normal

provision of Income Tax Act

(i) A closely held company is allowed to set off

3

and carry forward its business losses. 9
. i .
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2. {a) What are the tax incentives allowed to new

industrial units set up in Special Economic

Zones (SEZ) ? 6

() A and B want to start a business, They have two
, .
options for selecting the form of orgamisation,

- ] s partnershup firm or a private company, the
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estimated profits of which, before the following

deductions, are expected at Rs. 7,44,000

(1

(2)

3

4

(5)

(6)

1]

Remuneration Rs. 12,000 per month each

Medi’cal facihty Rs. 20,000 per annum each

Car facility from residence to office and back,

estimated cost Rs 20,000 per annum each
Rent free house valued at Rs. 30,000 each.

Each will give loan to the business of

Rs 2,00,000 @ 12% per annum.

Contrbution ds capital Rs 2,00,000 each. On
this, interest will be paid @ 12% per annum,
However, the company cannot pay any

interest on it

The profits after tax will be distributed

equally as profits or dividends

Suggest whether they shouid form a partnership

firm or a private company 9
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Or

(sra=)

XYZ Ltd needs a component in an assem.bly operation

It 15 contemplating a proposal to either make or buy

the aforesaid component.

(1) If the company deades to make the component
- itself, it would need to buy a machine for
Rs, 8 lakhs which would be used for 5§ years.

Manufacturing costs 1n each of the 5 years

i
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would be Rs 12 lakhs, Rs 14 lakhs, Rs 16 lakhs,
Rs 20 lakhs and Rs. 25 lakhs respectvely The
relevant depreciation rate 15 15% The machine

.

will be sold for Rs. 1 lakh at the beginning of

the sixth year.

(2) If the company decides to buy the component
from the supplier, the component would cost
Rs 18 lakhs, Rs 20 lakhs, Bs. 22 lakhs,
Rs 28 lakhs and Rs 34 lakhs respectively 1n each

of the five years

The relevant discounting rate and tax rate are 14 percent
and 33‘ 99 percent respectively Additional depreciation
is not available Should XYZ Ltd make the component

or buy it from outside ? 15

xyz fafies =1 & 9= v @ faq ww @
H AEEHA T | A€ W T B TR A TR B
TEE R AR R A" Wy

() T FE 9 @ FTE ¢ F wE W o
Vo A W 8 &G TIC F YT TRt vt
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; \
33.99% ¥ | fafem qoaew Syeey 48 ¥ 1
waee 5 =0 xyz fafire @@ @ & &¢I SRR
3 TR
3. (@) Write a note on receipt of insurance compensation

in case of damage or destruction of capital asset

ws 45(1A). . 5
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® X Ltd., a widely held company, engaged in
manufacture of electrical switches 1s considering

. major expansion of its production facilities wiuch
18 expected to improve its profitabihty from present

20% to 25% (before tax) The finance manager has

gwven the following proposals -

(Rs 1n lakhs)
Particulars I 1 0 |O0 | Iv
Equity share capital 40 | 20 | 30 | 50
14% Preference shares 212 | — | 10
16% Non-convertible
. debentures | = 2] — | 40
Term loans from
banks (20%) — 40 )70}~
Lease finance (22%) 0| — | —1 —
Total 100.| 100 | 100 | 100
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(i) The rate of dividend on equity has not been

‘ below 24% in the past

() The tax rate faced by company is 33 99%

Fa

Your opinion with detailed reasons 1s sought on

the above - ) 10

(F) UR 45(1A) & mia gsira afesfa & afa
s1ear T2 B W s wiogfd @ wifa w feogoft
fafaw 1

(@) X fafites, =now &9 § oot g s ol
B fadt = fofor R @ & 1 oww w e
AR gl § i faem w1 W W=

W ¥ fEd Ius ovvem § gER Wt 20% ®
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25% (FX q&) amen ¥ | fow weus I frefafen

wera feg ¥
(¥ T #)
forarr 1|0 |m|v
st S s 40| 20} 30 | 50
14%&&%?\% 2 (20| —]10
T 1en AufEd R feR=R |'— | 20 | — /40
¥ @ smafum FF20%) | — {40 | 0 | —
wgI- 1o (22%) 0| -] =1—
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Or

(Fga

X Ltd, a closely held company having
act;umulated losses of Rs 5 lakhs has advanced
a loan of Rs 4 lakhs to a partnership firm on
20th August, 2008 Mr A, possesses 18% equuty
shares 1n X Ltd and has 25% share 1n the profits
of partnership firm. Discuss the tax consequence
to this transaction on Mr A, X Ltd and the

partnership firm. ~ 5

Mrs. X is offered an employment by A Ltd at
a basic salary of Rs 24,000 per month Other
allowances according to the rules of the company

are

Dearness allowance 18% of basic pay (not form-
mg part of salary), bonus : one month’s basic pay,

project allowance : 6% of basic pay
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The c;)mpany gl;fes Mrs X an option either to
take a rent free unfurnished accommodation at
Bhopal for which the company will directly bear

rent of Rs 15,000 per month or to accept a House

" Rent Allowance of Rs 15,000 per month and to

(%)

find out own accommodation and pay Rs 15,000
as rent Whach one of the two options should Mrs
X opt for in order to minimise her tax hill ? Will
it make any difference to her choice if Dearness
Allowance forms part of salary for long-term

benefits ? 10

X fafiRe wwfasran so ¥ fawe) defm
afval 5 g T w1 T S X 4 e
TIU & WG EH Y 20 TR, 2008 F fEa
g | T A & W X fafiRe 9 189 fee
PR & AR wriie v g ol A feemm 259
T | PRt A, X fafiRe olr e wf = @
931 % FAROE B e i |
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(@) siudt X | A fafiRs 3 24,000 % @fa 7= 7o

R R AT | FTEE @ | AT W HIE
%ﬁmwwm%:

ﬁ%mé'ﬁ%r:q@éaqmm% (S 3T T 9
T ¥); 99 : TH AE B g aA; GEeH

S : YA o BT 6% |

FT St X ) 9% oo R ¥ v o feow-
e srgetsm fam e § @ o fams g
o €@ @ 15000 F W A wE R
Fgar & fwoa s 15,000 % 9fa WMy @iER
w1 3R W TH w @ wE SR 15,000 . BRoE
31w R R § Y e A x e
Eﬁmﬁmmﬁmm-lﬁf")wm
[ H DR IR & wen o} ety @i @
fow wEmg s S W owm @ W ?
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Explain the meaning of arm’s length price 3

Explain briefly the amount of dedyuctmu allowed
to Non-Resident under Secgog 44C 1n respect of
WOTTIER

head office expenditure 5

X, a member of New Zealand cricket team,
received a sum of Rs 5 lakh for participation
mn cricket matches in India He also received a
sum of Rs 1 lal;h m India for endorsing a product
on TV. He contributed articles m a newspaper
1 India for which he received Rs 10,000 During
the tour of India, he attended horse racing 1n
Mumbar and won a prize of Rs 10,000 Determine

his tax hability for the AY 2009-10 7
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(%) g &g T & A4 F =EW SR |
(@) 999 § -1 =) Faem =g vibs & awd
44C YR B ST{ER WFa Fadr i & e

it |

(M Eieie fFde 39 & T W™ X W, WRd #
e e # wm &9 & for 5 or w9 F Ofn
W B ) I AT W T IR FH TRHET FA
& foq o # 1 @ T W uh R ww
T T YR & wEER-TE § e s Ty
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Or

(srg=m)

(@) Discuss briefly the scheme of Advance Ruling 7

&) Professor X, aitaizen of India, earned the following

remuneration during the previous year

Salary from Delln Umversify
(for 8 months) 4;00,000
Salary from a Umversity in USA 4,00,000

.He went to USA on leave without pay for 4 months
during the previous year He returned to India
on 1st April, 200% and brought with him Rs 3 lakh
m convertible foreign exchange The foreign

umversity deducted tax at source of Rs 50,000

Compute .
(1) Double taxation relief, and

(2) Tax payable for AY 2009-10 8
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(%) wfim fafolg a9 =) 989 § f@e sifsg

(@) I X 9@ & Tl §F 1 3= fas ad
Fafafes wfiafos wa fFe -

3
" freeht foreafomrera ¥ &

(8 A9 =) 4,00,000

e # favafaama ¥ 9 4,00,000

3 figd = TR A W g w4 W B R
T T A 1 1 e, 2000 F WRG A alk
vﬁaﬁaﬁﬁaﬁﬁsﬁaﬁﬁawmaﬁm
v | fadsht favafaare@ X 50,000 T E@ W

w1 w2 o @ | Jiwed st
1 Wl F-Ted, qq

2 fuRo 39 2009-10 & fow 23 & ¢
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5 (@) Define amalgamation u/s 2{1B) of Income Tax Act
State the tax incentives available to amalgamated

company 1n case of amalgamation under Income

Tax Act 9

b X ov;ms a block of assets (consisting of plants A
and B, depreciation rate 15%) On 1st Apnl, 2008,
WDV of block of assets 1s Rs 10,40,000 On
7th July, 2008, block of assets 15 transferred
to Y by X 1n a scheme of amalgamation for
Rs. 30,70,000 Find out tax consequences 1n the

» Tfollowing 2 cases

(1) X 1s an amalgamating company and Y 1s an
Indian amalgamated company and the block
of assets 1s transferred by X to Y 1n scheme
of amalgamation Y does not own any other

asset

(2} Y 1s a foreign company (assume in the

aforesaid case) _ .
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a5 A R B wfra ¥, HTaw™ T O15%
®) 11 3=, 2008 ! TEERE & Y T WDV
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FWIRH XA Y H TH TIHEE B TH
I ® 30,70,000 TIC A ala w Rar

freafafea @ foafad § w-330 I@ FETC

(M X % ganifea s ¥ R Y T wa
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»
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@) Define demerger u/s 2(19AA)

6033

5

() Discuss the tax implications of transfer of

assets between holding and subsidiary companies

What are the cases when profits and gains ansing

from such transfer will be charged to capital

gains tax *?

5

() X started a umit 1n 2002, the Balance Sheet of
which as on 31st March, 2009 1s as follows

Amt. (Rs) Amt, (Rs)
Capital 13,00,000 | Land (purchased
Revaluation Reserve|  6,00,000 on 1-6-2004) 10,00,000
Bills Payable 1,50,000 | Bulding (WDV) 5,00,000
Creditors . 2,50,000 | Plant and
Machinery
(WDV) 3,00,000
Bills Receivable 50,000
Stockl 2,560,000
Debtors 2,00,000
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Other Information

(1) Land was revalued 1n 2007 and the amount

was credited to Revaluation Reserve Alc

(2) Sold the umt on 1st May, 2008 for lump sum

consideration of Rs 20,00,000

Compute the capital gamns m slump sale 5

(F) B 2(19AA) & ava fagaw =1 wfiamen
g

(@) uRw T At s frifm s § et
# AWw & w yfom # fedem w9
et frofrdl w0 € 99 W@ ofwl | 9 W™
SR T w OSe wY T w9 d gwifa

. F}mm|
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(M X A T e 2002 B ITE W 4 forgem 31 W,
2009 WH H TOAURA TH UHH ¥

R (F F) TRT (. A)
LSl 13,00,000 | 9 (1-6-2004 Y
T T 600000 | W TE) 10,00,000
39 fam 1,50,000 | Y51 (WDV) 5,00,000
AT 2,50,000 | T iR e
(WDV) 3,00,000
T fa@ 50,000
i 2,50,000
eIt 2,00,000
23,00,000 23,00,000
= ‘QFHTQ :
O 2007 ¥ 4" Qe & T g odv
9 U A e fiod om # s
e oo

2)

1 73, 2008 &I THHYA U 20,00,000 FIT
T W g W oSw {0

T & W faw § o el W sifreem
Fifom |
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